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Time : 4Hrs. Sem. I/II

B.E. Org.

Full Marks : 80

Pass Marks : 26

Answer all Four questions from Group B, each question 

carries 6  marks.
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12

Old Syllabus

Answer any Three Questions. 
12 x 3 = 36

A 70mm long line AB has its end A 20mm above

the H.P. and 30mm in front of the V.P. the line is
0 0inclined at 45  to the H.P. and 30  to the V.P.

Draw is projection.

70mm AB A 

H.P 20mm V.P. 30mm 

60mm long is resting on one of the edges of its

edges of its base in the H.P. and parallel to the

V.P. Draw its projection and side view also.

11.

10.

12

12
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The angle between the asymptotes of  a

rectangular hyperbola:
0

(a) 30
0

(b) 45
0

(c) 60
0

(d) 90

The length of scale with R.F. = 1/40 to 

measure up to 6m will be:

(a) 10cm

(b) 12cm

(c) 15cm

(d) 20cm

60 mm 

H.P.V.P. 

by oblong method.

130mm 85 mm 

axis is 70mm long. Draw on ellipse by concentric

circle method.

110mm 

70mm 

8.

9.

6

6
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(iii)

(iii)

(iv)

(ii)

The side view of an object is obtained on 
the : 
(a) Horizontal plane
(b) Vertical plane
(c) Profile Plane
(d) Auxillary plane

The point lying in the H.P. has its top view
above xy. its front view is:
(a)  On xy
(b)  Above xy
(c)  Below xy
(d)  All of the above

A 60mm long line PQ has its end P 20mm above 

H.P. the line perpendicular to the H.P. and 40mm

in front of the V.P. Draw its projection.

60mm PQ P 

20mm H.P. H.P. 

V.P. 40mm 

60mm is resting on one its rectangular faces on

H.P. with axis parallel to the V.P. Draw its projection.

30mm 60mm

H.P. V.P. 

A tetrahedron of edge 60 mm is resting on a face on

the H.P. such that an edge is parallel to and 20mm 

in front of the V.P. Draw its projection. 

5.

6.

6

6

6

7.
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(v)

(v)

(vi)

(iv)H.P xy 

The front view of an elliptical plane may be:

(a) Ellipse

(b) Circle

(c) Straight line

(d) Any of these

When measurement are required in three

consecutive  units, the appropriate scale is:

(a)  Plain scale

(b)  Diagonal scale

(c)  Isometric scale

(d)  Scale of chord

9Km 1cm=0.5Km 

of the base 25 mm and the axis 50 mm long and

its axis is vertical.

25 mm 50 mm 

0
The front view of a line, inclined at 30 to the V.P.

is 70 mm long. Draw the projection of the line,

when it is parallel to and 50mm above the H.P.

its one end being 40mm in front of the V.P

30

50mm 

3.

6

4.

6
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(vii)

(vii)

(viii)

(vi)

Answer all Four Questions. 

2.

4 x 6 = 24

(xx)

The development of surface of an oblique
solid is obtained by:
(a) Radial line
(b) Parallel Line
(c) Triangulation
(d) Approximation

A cone is cut by a section plane parallel to
the profile plane its true shape of section is
seen in
(a)  Front view
(b)  Top view
(c)  Side view
(d)  Auxillary  view

Construct a plane scale, of 1cm=0.5Km, to read 

kilometer and hectometers and long enough to 

measure upto 9 Kilometer. Find its R.F and measure

a distance of 6km and 4 hectometer on this scale.

6
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Oblique plane is a plane which is:

(a) Inclined to both H.P and V.P

(b) Inclined to H.P and perpendicular cular

      to V.P

(c)  Perpendicular to both H.P and V.P

(d) Same as profile plane

When semi-circle is rotated about its diameter

solid generated will be:

(a) Cone

(b) Cylinder

(c) Sphere

(d) All of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

The angle that isometric line make with each
other:

0
(a) 45

0
(b) 60

0
(c) 90

0
(d) 120

If a hexagonal plane is inclined to H.P. and
perpendicular to V.P its front view is:
(a)  Line
(b)  Regular hexagon
(c)  Irregular hexagon
(d)  None of these

OT12008 OT12008
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(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

V.P

Hidden lines are drawn as:

(a) Dashed narrow line

(b) Dashed wide line

(c) Long-dashed dotted narrow line

(d) Long-dashed dotted wide line

An object shown by more than one view in 

a drawing is called 

(a)  Perspective drawing

(b)  Isometric drawing

(c)  Oblique drawing

(d)  Multi-view drawing

IS: 

When a right circular cone is cut by a plane
passing through its apex, the curve obtained
is:
(a) Ellipse 
(b) Hyperbola
(c) Parabola
(d) Triangle

Isometric projection is drawn with use of :
(a)  True scale
(b)  Isometric scale
(c)  Diagonal scale
(d)  Both (a) and (b)

OT12008OT12008
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(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

In the front view of line is parallel to the
xy its true length is shown in:
(a) Front view
(b) Top view
(c) Side view
(d) Both front and top view

Maximum possible exterior angle in a regular
polygon is:

0
(a)  60

0
(b)  90

0
(c)  120

0
(d)  135

Length of the line development of surfaces of

a solid will be:

(a) Reduced length

(b) Increased length

(c) True length

(d) Cannot be said

As per I.S. maximum size of drawing sheet is

respresented by

(a)  A4

(b)  A3

(c)  B0

(d)  A0

OT12008 OT12008
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12.

13.

12

12

14.

12

A hexagonal pyramid of base side 30mm and axis

60mm, has on edge of its base on the ground inclined 
0 0

at 45  to the V.P. and axis is inclined at 30  to the

H.P. Draw its projection.

55mm is resting on one of its triangular faces on 

the H.P. A vertical plane containing the axis is 
0inclined at 45  to the V.P. Draw it projection.

40 mm 55mm 

point of the circumference on the V.P. The plane is
0inclined at 30  to the V.P and the centre is 35 mm

above the H.P. Draw its projection.

12.

13.

12

12

14.

12

A hexagonal pyramid of base side 30mm and axis

60mm, has on edge of its base on the ground inclined 
0 0

at 45  to the V.P. and axis is inclined at 30  to the

H.P. Draw its projection.

55mm is resting on one of its triangular faces on 

the H.P. A vertical plane containing the axis is 
0inclined at 45  to the V.P. Draw it projection.

40 mm 55mm 

point of the circumference on the V.P. The plane is
0inclined at 30  to the V.P and the centre is 35 mm

above the H.P. Draw its projection.

17 02103/01203/P01203OT12008OT12008
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***

mid point M being 50mm above the H.P. and 40 mm

in front of the V.P. The end A is 20mm above the H.P.

and 10 mm in front of the V.P. Show the traces and

the inclinations of the line with the H.P. and the

V.P.

90 mm AB 

A,20mm 

10 mm 

15.

mid point M being 50mm above the H.P. and 40 mm

in front of the V.P. The end A is 20mm above the H.P.

and 10 mm in front of the V.P. Show the traces and

the inclinations of the line with the H.P. and the

V.P.

90 mm AB 

A,20mm 

10 mm 

15.

1802103/01203/P01203

***
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